
Entry 3 - Working with Whole Numbers  6371/E3

Name:

Complete the following questions. 
Remember to show your workings.

Multiplying numbers

11 players in a cricket team each paid a £6 fee to 
play. 

What was the total fee paid?

AC 2.3

 
Workings:

Total fee paid:

1.        

Pupils from Highwood School went on an end of 
school trip. There were 4 buses with 45 pupils on 
each bus.

How many pupils went on the end of school trip?

 

 
Workings:

Pupils:

2.        

A family of 4 people each paid £135 for a 
short-break holiday.

What was the total cost of the holiday?
 
Workings:

Total cost:

3.        

Three planes carried football supporters to a match 
in Europe. Each plane had 162 supporters. 

How many supporters went to the match?

 

 
Workings:

Number of supporters:

4.        

 £ 

 £ 


